
Name ________________________________


Period 1  Date ___/___/___

Titration Weak Acid/Strong Base
Consider this titration. Titration of 25 mL of a 0.1 M acetic acid (HOAc) solution with 0.1 M NaOH.  (Ka of acetic acid is 1.8x 10-5)
Find the pH: 1) at the start of the titration, 2) after 10 mL NaOH added, 3) at equivalence point (25

mL NaOH added), 4) at 35 mL NaOH added.

1) pH at start of titration. Steps: find pH based on [HOAc] and Ka. You can do this. pH = 2.87.
2) pH after 10 mL 0.1 M NaOH added. Steps: find moles NaOH added, moles HOAc remaining,

moles OAc- formed, find [HOAc] and [OAc-], find pH based on [HOAc] and [OAc-]. pH = 4.57

3) pH at equivalence point (25 mL 0.1 M NaOH added). Steps: find moles NaOH added, moles

HOAc remaining, moles OAc- formed, find [OAc-], find pH based on [OAc-] and Kb. pH = 8.72
4) pH after equivalence point (35 mL 0.1 M NaOH added.) Steps: find moles NaOH added, find

moles of NaOH remaining, find [OH-], find pH based on [OH-]. pH = 12.22
A 35.0 mL sample of 0.150 M acetic acid (HC2H3O2) is titrated with a 0.150 M NaOH solution. (Ka of acetic acid is 1.8x 10-5)
Calculate the pH after the following volumes of base have been added.

a) 0 mL base added

b) 17.5 mL base added

c) 34.5 mL of base added

d) 35.0 mL of base added.

e) 35.5 mL of base added

f) 50.0 mL of base added.
Calculate the pH at the equivalence point when 40.0 mL of 0.025 M benzoic acid (HC7H5O2, Ka = 6.3x10-5) is titrated with 0.050 M NaOH

a) 2.78

b) 4.74

c) 6.58

d) 8.81

e) 11.027

f) 12.423

8.21

